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General Instructions :

(i) All questions in both the sections are compulsory.
(i) Marks for questions are indicated against each question.

(iii) Questions No.1-3 and 15-19 are very short-answer questions carrying 1 mark each.

They are required to be answered in one sentence each.

(iv) Questions No. 4-8 and 20-22 are short-answer questions carrying 3 marks each.

Answers to them should normally not exceed 60 words each.

(v)  Questions No. 9-10 and 23-25 are also short-answer questions carrying 4 marks

each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 11-14 and 26-29 are long-answer questions carrying 6 marks each.

Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be

adhered to as far as possible.

g — A
Section — A
. U o] S5 eIl sa- W el Ui (3T7) 2 100 & | 6 $hgar sa O HHT= duf
T 8% /1 6 ZHTEAT [HH HHd T &= STl & ? (Wl fashed ) 1

(a) T 28 UT THE
(b) T 20T TS

(¢) ¥ 18 Uld shis
(d) T 12 9fd ThE

When 5 units of a goods are sold, total revenue 1s X 100. When 6 units are sold,
marginal revenue is X 8. At what price are 6 units sold ? (Choose the correct

alternative)

(a) < 28 per unit
(b) < 20 per unit
(¢) X 18 per unit
(d) < 12 per unit
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2. oI U 3MUH U GSIEU Eh §RT AIPR @RI % ST i Wicaned T Tehell & | 1

Suggest any one economic measure by which the government can promote

consumption of ‘Khadr’.

3. U O] I BT g%k DD' 9 fags ¥ dd' & Sl € 1
Y D ““F
HHA
(X)
o d
X
P—

TOH HROT : (Tel [ghed gHu)
(a) o%] ! BHHT HH ST &l THhaT & |
(b) T I HIHT TEAT & TeheT & |

(c) WIqEAT o] i SHiFd ST 8l bl & |

(d) I %] I DT T 8 Tehall & |

The demand curve-of'a goods shifts from DD’ to dd'.

Demand (Units)

This shift can be caused by : (Choose the correct alternative)
(a) fall in the price of the goods.

(b) rise 1n the price of the goods.

(¢) rise 1n the price of substitute goods.

(d) rise in the price of complementary goods.
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4.  HF GHEU I 30 eidl & ? GHATET | 3

Why do central problems arise ? Explain.

5. STH 3R HYHAR T 3T d1¢ & 3! SR THTEHT HHT (T56) T TATd &l AT Do | 3
Explain the effects of floods in Jammu and Kashmir on its production possibilities
frontier.

6. YRd WHR T HHA & [T “THIT o' 1 (LT el & 2 THATET | 3

Why does the government of India fix ‘support price’ for some crops ? Explain.

7. U7 3R U] SCUMHR H 9T AT |
AAdT
UHTIHRIHS UaITar § 9 It (ATH) dh o1 oAl RO o0 eIl & 2
HHHARRT | 3

Distinguish between pertect and impertect oligopoly.

OR

Why i1s average revenue curve negatively sloped under monopolistic competition ?

Explain.

.  HMH A3 3Ed IREdl NTd & S = hi ST iy | 3

Explain the relationship between marginal cost and average variable cost.

9. a&] I HEd IR AN ¥ (R T g HIT | STFMTAT [G¥eTsoT ST SUANT HISTT | 4
e

AT hl ShIH AT ol TTTAT S ot Tohwal &1 HILehl Shi AT HiTT |

Show that price and demand of a commodity are inversely related ? Use utility

analysis.
OR

Explain any two factors that affect price elasticity of demand.
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10. %] SR BAT 1 TETST SISTT | 3eh! THTiad e dTel SR Jarsy | 4

Define ‘market demand’ for a goods. State the factors that affect it.

[1. ST Fqe i TR T | SHEN a3k [aveivor & 3T=id s9eh! IIal ol o
HITT | 6

Define consumer’s equilibrium. Explain its conditions under indifference curve

analysis.

2. TR & T ol I THSATRT | 6
At
FATAREd H 3T qea 21T € 2
(a) T U (3TTH) 377 fEa 9,
(b) HeT GUITE SR FHT THed
Explain the conditions of producer’s equilibrium.
OR
What 1s the relationship between :

(a) Margmal revenue and Average revenue

(b) Total'revenue and Marginal revenue

13. RSl 3TUTAl o a3 I GHET 3018 3R el 318 a5hl ol TETddl H AT HirsTT | 6

Explain the law of variable proportions with the help of marginal product and total

product curves.

fFrfeiiad ue shaet gl adianteaat & foaw vy 9e 13 F =\ W e

URE STATAl 3T 2 Teh Ifetehl &l WeTddl d THEET |

The following question 1s for the Blind Candidates only in lieu of Q. No. 13.

Explain the law of variable proportions with the help of a schedule.
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4. X 9% g8 STHAT % 1T Teh WH %] & | 37! 3T &g Sl & | 36 X Bl Geord
IFd, BT 3R YT U W7l bl *TGAT i ARAT BN | (TG ST TN i) 6

X 1s a normal goods for its consumers. Their income increases. Explain its chain of

eftects on equilibrium price, demand and supply of X. (use diagram)

FTATAEd TR ShaeT Sieat qaiaTierat & fore uv= T 14 & TH W E -

TH a&] &l 9fd | “FHH & 3T Ao HiFd, T AR Jid I8 Tal S S&GAT Tl AR
HITTT |
The following question is only for Blind Candidates in licu of Q. No. 14.

Explain the chain of effects of “decrease” in supply of a commodity on its

equilibrium price, demand and supply.

Ygig — d
Section — B
15. F=tafad |5 § i 91 551 61 6 T8 § 2 (Fel [ged giHu) 1
(a) TIMHEE hr ATeaH
(b)  hivd TR
ORI SRER
(d) T H TR

Which of the following 1s not a function of money ? (Choose the correct alternative)
(a) medium of exchange

(b) price stability

(c) store of value

(d) unit of account
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16. T=AfifEd o= & 9 &9 91 T&l ¢ 2 1
(a) T AT 3R T WA T 1= ASTHET H1eT 8l & |

(b) T MAT 3T ST AT ol 3T MNATH =TT 8l & |

(c) TSTeRIUIE =TT MfHe BT ] AT A 61 AT 8T & |

Which of the following statements 1s true ?
(a) Fiscal deficitt 1s the ditterence between total expenditure and total receipts.
(b) Primary deficit 1s the difference between total receipt and interest payments.

(¢) Fiscal deficit 1s the sum of primary deficit and interest payment.

17. FAfiEad B ¥ H 91 Ya6e 6l € 2 (T8l [9eed giHu) 1
(a) eI
(b) 2
(c) e
(d) TEEEe

Which of the following 1s not a flow ? (Choose the correct alternative)
(a) Capital

(b) Income

(c) Investment

(d) Depreciation

18. =T Yid o =% Farey | 1

State the components of money supply.
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19. Fr=Atafad o | i A1 UeeT R Hl STl € 2 (Wel foehed giHu) 1

(a) SR Yok 3R T Y

(b) HaT FX 3 3T FX

(C) dﬂﬂﬁ?}?‘m"aﬂ‘(@mﬁ
(d) T T AR 3T

Which one of the following i1s a combination of direct taxes ? (Choose the correct

alternative)

(a) Excise duty and Wealth tax
(b) Service tax and Income tax
(¢) Excise duty and Service tax

(d) Wealth tax and Income tax

20. THoRT U 3R 99T gid & 372 Ry | 3
3Teran

AT T A Y01 TSR o 3T Farey |

Give the meaning of investment multiplier and aggregate supply.
OR

Give the meaning of aggregate demand and full employment.

21. TO=ST eT @ SiFd U gig o AT 9 T9Te Sl 7T SHifsT | 3

Explain the effect of rise in price of foreign currency on exports.
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22. 3 % GieTd &Y T GREhe I 3

(a) &I STHM =200
(b) THT 3TN v = 0.9
(c) TemT =3 = 1000

Calculate equilibrium level of income :
(a) Autonomous consumption = 200
(b) Marginal propensity to consume = (0.9

(¢) Investment expenditure = 1000

23. WA AR GUENH & oH-a41 § 9 HINT | 39 9T 61 Je<d THg | 4

Distinguish between autonomous and accommodating transactions of balance of

payments account. Explain the significance of this distinction.

24. TG STREl ¥ R AN U Hael Jod Hgkg T aeheTd e ; 4
(X werSi )
(i) ol 300
(i)  URFHH Lh 40
(i) TerEER 30
(iv)  HFadl ST 120
(v)  TEm 50
(vi) 6 H giRaaH 20
(vii)  THeleT 3Tvcael Y 15
(viii)  TeIST Sl R 3T 10
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From the following data, calculate net value added at factor cost.

(T in crores)

(1) Sales 300
(11) Opening stock 40
(m1)  Depreciation 30
(1v)  Intermediate consumption 120
(V) Exports 50
(vi)  Change 1n stock 20
(vi1)  Net indirect taxes 15
(vii1) Factor income to abroad 10
25. ATl aEqel AR AT T&I3 T 94T DI | T 1 TH ITE0T I | 4
G
3T o FshId HAle il SAREAT HISTT |

Distinguish between intermediate goods and final goods. Give an example of each.
OR

Explain the eircular flow of income.

26. THU HAT AR GAY Gid o SREK 7 B I (GTd | ST IRE i &, 37! SRS Hioy | 6

Explain the changes that take place when aggregate demand and aggregate supply are

not equal.

7. 3 3T T o STTHEATAT HT HH L bl STl hl ARAT BT | Thgl e T2
SUTT hl AT AT (5 T I AT ST TeheT & | 6

Explain the need for reduction in inequalities of income and wealth. Explain any two

budgetary measures by which it can be done.
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28.

29,

S58/1/3

$5T S h [l & G B! T JUMH HISTT |

AT

g 3T W UREAA STIee | H5T 9fd i hd qefad #d € 2 Uy |

Describe any two main functions of a central bank.

OR

How do changes in Bank Rate affect the money supply in an economy ? Explain.

(a) T 2T 3R (b) Mot LT TIST 37T T URHAT il

(1)

(11)

(iii)

(1v)

(V)

(V1)

(vil)

(vii1)

(1x)

(X)

Thet ST 3Tt Ysil 10T
LIk | G

feIR@Tr 3l feleT SR 3T
eIt 3T ST =
TeTeT AUcae] T
REGAREIS!

[S1ks]

TR AT ST =
3T Yl ST ST

ToReT hl et aTe] &&ATarol

CEaEI)
200
(=) 30
50
1500
100
60
500
600
20
(-) 10

11

~

—

4, 2
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S58/1/3

Calculate (a) national income and (b) net national disposable income.

(1) Gross domestic fixed capital formation

(11) Change 1n stock

(111) Net factor income to abroad
(1v) Private final consumption expenditure
(V) Net indirect taxes

(V1) Net exports

(vii)  Profit

(vii1)  Government final consumption expenditure

(1X) Consumption of fixed capital

(X) Net current transfers to abroad

12

(T in crores)

200

(=) 30

50

1500

100

60

500

600

20

(—) 10
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